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6KHULQD� (OLVDEHWK� 0DQXUXQJ�� 1,0� ������������ 6WXGL� 'RNXPHQWDVL�
6RXQGVFDSH GL�.DZDVDQ�-HPEDWDQ�%DUHODQJ�,NRQ�.RWD�%DWDP�6HEDJDL�'DVDU�
3HQFLSWDDQ� .DU\D� 0XVLN�� 6NULSVL�� -XUXVDQ� 6HQGUDWDVLN�� 3URJUDP� 6WXGL�
3HQGLGLNDQ� 0XVLN�� )DNXOWDV� %DKDVD� GDQ� 6HQL�� 8QLYHUVLWDV� 1HJHUL� 0HGDQ��
�����

7XMXDQ�GDUL�SHQHOLWLDQ�LQL�LDODK����� XQWXN�PHQJHWDKXL�EDJDLPDQD�SURVHV GDUL�VWXGL�
GRNXPHQWDVL� VRXQGVFDSH� \DQJ� GLODNXNDQ�� ���� EDJLDPDQD� SURVHV� SHQFLSWDDQ VXDWX�
NDU\D� PXVLN� GHQJDQ� PHQJJXQDNDQ� VWXGL� GRNXPHQWDVL� VRXQGVFDSH� ���
EDJDLPDQDKDVLO� GDUL� VWXGL� GRNRPHQWDVL� VRXQGVFDSH \DJ� EHUXSD� VXDWX� SHQFLSWDDQ�
NDU\D�PXVLN� 0HWRGH�SHQHOLWLDQ�\DQJ�GLJXQDNDQ�GDODP�SHQHOWLDQ� LQL� LDODK�PHWRGH
NXDOLWDWLI�GHVNULSWLI��7HNQLN�SHQJXPSXODQ�GDWD�GDODP�SHQHOLWLDQ�LQL�LDODK�REVHUYDVL��
GRNXPHQWDVL GDQ ZDZDQFDUD�� $ODW� \DQJ� GLJXQDNDQ� XQWXN� SHQHOLWLDQ� VRXQGVFDSH�
\DLWX� DODW� UHNDP� +DQG\ 5HFRUGHU=RRP� +�Q�� .DPHUD 6RQ\� $����� 0LFURSKRQH
:LQGVFUHHQ� (DUSKRQH��+DVLO�GDUL�SHQHOLWLDQ�DGDODK�� ����3URVHV�VWXGL�GRNXPHQWDVL
\DLWX� PHODNXNDQ� SHUHNDPDQ� VRXQGVFDSH GHQJDQ� DODW SHUHNDP� +DQG\� 5HFRUGHU�
=RRP�+�Q NHPXGLDQ�GLDUDKNDQ�NHDUDK�PDQD�EXQ\L�\DQJ�DNDQ�GLUHNDP��\DLWX�EXQ\L�
GDUL� DLU� ODXW� GL� -HPEDWDQ� %DUHODQJ�� EXQ\L� EXUXQJ�� EXQ\L� ELQDWDQJ�� ���� SURVHV�
SHQFLSWDDQ� NDU\D� PXVLN� SDGD� VWXGL� � GRNXPHQWDVL� VRXQGVFDSH� GLODNXNDQ� GHQJDQ�
EHEHUDSD�WDKDSDQ�\DLWX��3UD�3URGXNVL��3URGXNVL��(GLWLQJ��0L[LQJ�GDQ�0DVWHULQJ� ����
+DVLO�GDUL�VWXGL�GRNXPHQWDVL�VRXQGVFDSH GL�NDZDVDQ�-HPEDWDQ�%DUHODQJ�LNRQ�.RWD�
%DWDP� \DLWX� EHUEHQWXN� NDU\D� PXVLN�� %XQ\L� \DQJ� GL� GDSDW� PHODOXL� VWXGL�
GRNXPHQWDVL�GLNODVLILNDVLNDQ�NHPXGLDQ�GLEXDWVXDWX�NDU\D SHQFLSWDDQ PXVLN�GHQJDQ�
PHQJJXQDNDQ�VRIWZDUH�'$: �'LJLWDO�$XGLR�:RUNVWDWLRQ��

.DWD� .XQFL� 'RNXPHQWDVL� -HPEDWDQ� EDUHODQJ� 0XVLN�� 3HQFLSWDDQ PXVLN��
6RXQGVFDSH


